


SIZE:
Width approx. 54 cm. Length approx. 63 cm.

MATERIALS:

WENDY SUPREME DK
WDO02- WD05-
WD38-WDA42-
COLORS

CROCHET HOOK SIZE 4 MM.

CROCHET TENSION:

19 treble crochets in width and 10 rows in height = 10 cm.

NOTE: Hook size is only a guide. If you get too many stitches on 10 cm, change to a larger hook
size. If you get too few stitches on 10 cm, change to a smaller hook size.

EXPLANATIONS FOR THE PATTERN:

PATTERN:
See diagrams A.1

START THE PIECE HERE:

BABY BLANKET —— SHORT OVERVIEW OF THE PIECE:
The piece consists of Granny-squares crocheted together. An edge is worked around the blanket
to finish.

GRANNY-SQUARE:

Work according to diagram A.1, read.

ASSEMBLY:

Lay the squares as shown in (= 6 squares in width and 8 squares in length).
Crochet together the squares lengthways, then

4 mm Use crochet - Lay 2 squares wrong side to wrong side and work through both layers: 1
double crochet around the chain-space in the corner, * 3 chain stitches, 1 double crochet around
the space between treble-crochet groups *, work from *-* up to and including the chain-space in
the next corner, work 2 chain stitches (transition between squares) and 1 double crochet in the
chain-space on the next square.

Continue like this until a full length of squares has been crocheted together. When all the lengths
have been crocheted together, work them together widthways in the same way.

EDGE:
Use crochet hook size 4 mm and off-
Around the corner: 1 double crochet, 3 chain stitches, 1 double crochet, 3 chain stitches.

Along the sides: * 1 double crochet between treble-crochet groups, 3 chain stitches *, work from
*-* t0 the transition between 2 squares.



In the transition: 1 double crochet around the chain-space on the first square, 3 chain stitches, 1
double crochet around the chain-space on the next square, 3 chain stitches.

Work an edge like this around the whole blanket; finish with 1 slip stitch in the first double crochet
at the beginning of the round.

Diagram

@z Start here! Work 4 chain stitches and form them into a circle with 1 slip stitch in the first
chain stitch = point on circle
=— 1 chain stitch - if you work outermost on the hook the chain stitch will often be too tight; 1
chain stitch should be as long as 1 double/treble crochet is wide.
T =1 chain stitch and 1 slip stitch in the 3rd chain stitch at the beginning of the round

'|': treble crochet around chain-stitch ring/chain-space, between treble crochets on the
previous round
= first treble crochet of the round; at the end of the round work 1 slip stitch in this treble
crochet

'i|=': 1 treble crochet around the 3 chain stitches at the beginning of the previous round
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